| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
o e e
T M ———
0.2
O

effi

T e o

QO

J-'G IIII:IIII:IIII:IIIIiI .I!I ; 11 :IIII:IIII:IIII

Ratio

LS O 1)1 T

b R
b il L
-25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFit_var

0.2 —— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
N U. ; T T T
> : :

DI
P 5 5 5 5 5

Pae
(&) L
$0.14
()

0.12F
0.1F

N Sl TR ; Timd:
I *:“ H H H :
vl b e e by e |y
. . . & * .
iy
*

2030
TP dz (cm)



	Contents
	Page 1


